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Locus and Parahola Test
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For the parabola x? =-12y

(a) Find:
(1) the co- -ordinates of the focus.
(if) the equation of the directrix.
(iii) the length and co-ordinates of the endpoints of the latus rectum.

" (b) Find the equation of the normal to this parabola at the point (6,~3).

(c) The above normal meets the curve again at Q and the directrix at R.
~ Find the midpoint of the interval QR.
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For the parabola x? = 10x =2+ 19 =0
(a) Find the focal length and the co-ordinates of the vertex.

(b) Hence find:
(i) the co-ordinates of the focus and the equation of the directrix.
(ii) the length and endpoints of the latus rectum.

(a) Find the equation of the parabola with focus (-4,3) and directrix y =-5.

(b) Determine the inequality which is satisfied by all points P(x,y) such that P is closer to the *
focus than the directrix.
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The bridge is 6 metres high and 10 metres wide at its
m base.
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A and B are the pomisl (-3.5) and (2,~1) respectively.
The point P(x,y) moves so that PA'is perpendicular to PB.

(a) Find the equation of the locus of P,
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Find the equation of the parabola.

(b) State, in geometric terms, the nature of this locus.

A is the point (12,0) and / is the line x =3.
The point P(x,y) moves so that the distance of P from [ is half the distance of P to A.

Show that the equation of the locus of Pis 3x* ~y* = 108.

The diagram shows a bridge in the shape of a parabola.
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